

## 5/20/2020 Linear Equation with variable Coefficient

The equation  $\frac{d^2 y}{dx^2} + P \frac{dy}{dx} + Q y = R$  ①

Where  $P, Q, R$  are functions of  $x$ , is called linear Equation with variable coefficient.

In this lecture we discuss about Normal form of the equation. When we remove the 1st derivative term of the equation. Then we call it normal form.

W.R. In Eq ①, we put  $y = f u$ , where

$f$  and  $u$  are both functions of  $x$ . Taking first and 2nd derivatives also. After simplifying, the Eq ① reduces to the form

$$\frac{d^2 u}{dx^2} + Q_1 u = R_1$$

When coefficient of 1st derivative term is equal to zero i.e.  $\frac{2}{f} \frac{df}{dx} + P = 0$   
after integrating,  $f = e^{-\frac{1}{2} \int P dx}$ .

Where  $Q_1 = Q - \frac{1}{2} \cdot \frac{dP}{dx} - \frac{1}{4} P^2$

and  $R_1 = \frac{R}{f} = R e^{\frac{1}{2} \int P dx}$ .

Problem (16) Solve  $\frac{d^2 y}{dx^2} + \frac{2}{x} \cdot \frac{dy}{dx} + y = \frac{\sin x}{2}$

Ans In the given equation

$$P = \frac{2}{x}, \quad Q = 1, \quad R = \frac{\sin x}{2}$$

$$\therefore f = e^{-\frac{1}{2} \int P dx} = e^{-\frac{1}{2} \int \frac{2}{x} dx}$$

$$= e^{-\log x} = e^{\log x^{-1}} = \frac{1}{x}$$

$$Q_1 = Q - \frac{1}{2} \cdot \frac{dP}{dx} - \frac{P^2}{4}$$

$$= 1 - \frac{1}{2} \cdot 2 \cdot \left(-\frac{1}{x^2}\right) - \frac{1}{4} \cdot \frac{4}{x^2}$$

$$= 1 + \frac{1}{x^2} - \frac{1}{x^2} = 1$$

$$R_1 = \frac{R}{f} = \frac{\frac{\sin x}{2}}{\frac{1}{x}} = \frac{1}{2} x \sin x$$

$\therefore$  The transformed equation is

$$\frac{du}{dx^2} + Q_1 u = R_1$$

$$\Rightarrow \frac{du}{dx^2} + 1 \cdot u = \frac{1}{2} x \sin x$$

$$\Rightarrow \frac{du}{dx^2} + u = \frac{1}{2} x \sin x$$

$$\Rightarrow (D^2 + 1)u = \frac{1}{2} x \sin x$$

The A.E. is  $m^2 + 1 = 0$

$$\Rightarrow m^2 = -1 \Rightarrow m = i^2 \Rightarrow m = \pm i$$

$$\text{C.F. } u = e^{inx} (A \cos nx + B \sin nx)$$

P.I.

$$u = \frac{1}{D^2 + 1} \left( \frac{1}{2} x \sin nx \right)$$

$$= \frac{1}{2} \cdot \frac{1}{D^2 + 1} \text{ I.P. of } e^{inx} \cdot x$$

$$= \frac{1}{2} \text{ I.P. of } e^{inx} \frac{1}{(D+2i)^2 + 1} (x)$$

$$= \frac{1}{2} \text{ I.P. of } e^{inx} \frac{1}{D^2 + 4Di + 1} (x)$$

$$= \frac{1}{2} \text{ I.P. of } e^{inx} \frac{1}{D^2 + 4Di - 3} (x)$$

$$= \frac{1}{2} \text{ I.P. of } e^{inx} \frac{1}{-3 \left\{ 1 - \frac{D^2 + 4Di}{3} \right\}} (x)$$

$$= \frac{1}{2} \text{ I.P. of } e^{inx} \cdot \left(-\frac{1}{3}\right) \left[ 1 - \frac{D^2 + 4Di}{3} \right]^{-1} (x)$$

$$= -\frac{1}{6} \text{ I.P. of } e^{inx} \cdot \left[ 1 + \frac{D^2 + 4Di}{3} + \left( \frac{D^2 + 4Di}{3} \right)^2 + \dots \right] (x)$$

$$= -\frac{1}{6} \text{ I.P. of } e^{inx} \left[ x + \frac{0 + 4 \cdot 1 \cdot i}{3} + 0 \right]$$

$$= -\frac{1}{6} \text{ I.P. of } (\cos nx + i \sin nx) \cdot \left( x - \frac{4i}{3} \right)$$

$$u = -\frac{1}{6} \left( -\frac{4}{3} \cos 2x + x \sin 2x \right)$$

$$= \frac{2}{9} \cos 2x - \frac{1}{6} x \sin 2x$$

$\therefore$  The general solution is

$$u = A \cos x + B \sin x + \frac{2}{9} \cos 2x - \frac{1}{6} x \sin 2x$$

$$\therefore y = \delta u$$

$$\Rightarrow y = \frac{1}{x} \left[ A \cos x + B \sin x + \frac{2}{9} \cos 2x - \frac{1}{6} x \sin 2x \right]$$

$$\Rightarrow y = A \left( \frac{1}{x} \cos x \right) + B \left( \frac{1}{x} \sin x \right) + \frac{2}{9} \frac{\cos 2x}{x} - \frac{1}{6} \sin 2x,$$

where A and B are arbitrary constant.

As

— x —

Satish